Havitu npon3BoHbIe
y =24X+ —;; tgy = x+3y;
VX +x+1

y =Inarcsing,

- X=a-cost,
y =cos2X—2sin" 3X, .
y =Db-sint.

Havitu npon3BoHbIe

y=5Vx*+Xx+1/x; y=sin’X-exp(cosX);

arcsin X

V1=x?

, 1ny=arctg§ ,
y

X =3t—t°,
y=2t>

Havitu mpon3BogHbIE
y=3/x—arctg(4x+1); y=x-v1+x*;

y=5In*(x—x*); sin(x+ y):§ ;
X=a-(t—sint),
y=a-(l—-cost).

Havitu npon3BoHbIE

y=Vx+1 44X +1; y=3In’(sin X +3%);

_arccosX
X

X =2sin’t,

{y=cosSt '

5 arctgy = xy .

Havitu npon3BoHbie

3
y =0.5tg*(1-2X)+IncosX ; y:1/1i23 ;

y' +x* =3axy;

y = arctg

1-x* ;

X =cos’t,
y =sin’t.

Havitu npon3BoHbIe
y=5-44x+3-2/%x’; y=4-sin’(5-%x%);
y=x"-exp(-2X); Xx+y=2-exp(y);

X =Int,

y=0.5(t +%)'

Hawtu mpousBogHbIe
1+tgx

—X; y=2cos’(1-4x) ;
1—-tgx

=In

y= 2X+4\/;; X-siny+cos2y=cosy ,
X =a(tcost +sint),
y =a(tsint —cost).

Havitu nnponsBoaubie
y=+Xx>+sin2x; y=arctgvx’-2;

y =sin2X-exp(3X), siny+cosX=exp(X+Y);

X =Int,
y =arcsint

Hantu npounsBoanbie
y=In(e* ++1+e*); y=arcsin(tg’X);

y= X ;22X Xy =Yy,
- 9 - 9
V1+x?

X =a(2cos2t —cost),
y =a(2sint —sin 2t) -

Hawtu npon3BoaHbie

y=lnx+2+arcsin\/;; y=t’ =2t +exp(2t);

b 5 y= [E

X=t"-3t+4,
y=t>—4t+4

Havitu npon3BoHbIe

y=3-Yx’+5x* =5/x; y=arctg(tg’x) ;

) . [1—sinX .
X—y+a-siny=0;y=In —
1+sin X
X =2t +t,
y =Int '

Havitu mpon3BoHbIC
. A X
y =cos’(4x> +3) + sm%—i— sin’ ﬁT ;

_ 1+ Xx-arcsinX ,

i+

x+y:lnu; X
X=y

z=t"-exp(l/t);

_ 3at y_3at2
1+6877 1+t8°




Havitu npon3BoHbIe
z=arctg’(x* +4x); Yy =sin(sin’ X);
1

s= |1+ |— ;3 Z=ctg(x+y);
1+t y

X =cost,
y=sint+t

Havitu mpon3BoHbIE

y=Axyx*+1; z=y-siny’
_ 4Int
1—-Int

; Yy -3x’y+a’=0;

X= exp(—tz),

oL
1-t

Hawtu npon3BoaHbie

1+x arcsmy
1-x Ji-y?’

y= sin X ’ \/;+\/§:5y;

1+tgx

X =Incost,
y =3sint

Hawtn npon3BoaHbie
1

. 242t .
y= > 0 z2=7" ’
4X — X
2sing . .
= , y-sinXx=cosy,
l+cosg

X=2t-t3,
y=t>-3

Haitu nponsBoaHbie

2 . @ Q.
y=————; y=tg—-ctg= ;
VX —x—1 2 2

y=0.5-arctg§ C X4y —10x+y=0;

X = exp(2t),
y =sint-exp(t)

Hawtu npounsBognbie

3
y= 1+X3; s = exp(-t)-Int ;
1-x
p=—2 5 y'-ax’y+a’=0;
cos” ¢

Lyt
1+t77 1+t

Hawtu npon3BoaHbie
5

z= arctgg

{x =2(t° +1),
y=exp(t’)

2 - .3 .
y=Xx"-sin’ X;

; X+x =6y-y’;

Hawtu nponsBognbie

X _ Zarcsint .

e TR
y =t-Insint ; \/F-F\/F:\/?;

X=2t-t3,
y=t>-3

Havitu HpOI/ISBOI[HI)IC
=In(x* +5x+\/_), y_ x* +a’

y=3-exp(sin’t); X —2xy+y3+1:0
X =t +arctgt,

1
=—t"+t
y 3

Havitu npou3sBoHbie

\/(x+4)13 H(x=3)" . ctg2p
Ux+1 > T 4sin’e’
z=exp(2arcsiny); X’y—y’x+(x—-y)’ =0;
X =2t —sin 2t,
{y:sin3t .

Havitu npon3BoHbIe

y=2-32-x)*; y=exp(arctgvx);
cos’ X . 2
=— ; \/;+\/V:a+0.25y

sin’ X
X=2sin’t,
y=3cos’t

Havitu npon3BoHbIe
_ 2sing—cos’ o, ,

_ 3arctgz(4x+l) .
2singo+coszgo’ - ’

—%/lnsm :1/1_—)(;
+ X

{ ,y =b-tgt.
cost




Havitu npon3BoHbIe
y=X>+1+4X +1; arctgy =xy:

arccosX s, . .
= ; y=3In"(sinXx+3Xx); 5 .3
y=3tg°(X+1)+sin" X; cos(X+Yy)—tgy=x,
X =2sin’t, X =sin 2t,
y=cosSt | y =Incost’

Havitu npon3BoiHbIC
2X

y=232x-2+
VX + X

; z=arcsinlnx*;

Haittu nmpousBoaHbIe

X(1+x%) . cos@+sing |
y=In,|———, p=—"—"77—
X =1 I-sin” ¢

z=y"-exp(y); cosy-exp(X)—sinx-exp(y)=0;
x=at-cost,
y =bt-sint

Havitu npon3sBoHbie
y =2+ 432+ x* ; y = In(arcsin x — arccos X) ;
z=arctgIn(x> = X)+ x> tg(xy—y*)=x’y;
X =t* —sint,
{y =t-cost

Hawtu npon3BoaHbie

exp(—\/;) . a-sing 2-x* .
Tlrexp2d) 7 14 cose y2\5{2+x5 ;  y=cos'In(l-x)+arctg(x—1);
z=exp(sin®t); y-Inx—x-Iny=In(x+y); =—X2'tgx; xy? —x’y? = 2axy’;
x=(t+1/1, 1+1tg°x
y=(@t-D/t X =sin*t?,
y=cos4t2'

Hawtn nponsBoanbie

Hawitu mpousBogHbIE

VI+x2+x. X3 y?
y=In,|——; —+—=X+Y;
VI+xP =x 2y 2X

_awcosp#bsing., g gty). explarctg?y)
a-sinp—b-cosg
{chost-exp(t),

y =sint-exp(t)

Havitu nnponsBoaubie
y=4=vx+1 ; y=3cos’ (X’ —x+1);
y=Intg(x* +1); Xx’cosy—y’sinx=xy;

X = at” cost,
{y=bsint2 .

Haittu npousBoanbie
y =arcsin’ VX’ +5X ; y=3t-exp(sin’t);

Haitrtu npousBoaHbie

3/y2
X+4X .
y= ; y=arcsincosX++x* -1,
VX +1

: X’
p=1+193p) exp(-2); cos(xy)="5; 3 i i
2 y 3y +xy—x>=0; y=In*(X+exp(Xx+1));
{x=ﬁ+2n x =3t —2t3,
y=t>+8t—1 y=5t>+4t
Havitu nponsBoHbie Havitu nnponsBoaubie
S—t-arcsin b4 A_ - y = arccos cos 3X y=4sin’ x+2x7 +1; y=exp(tgx) —cos X’}
2 ’ cos’x 1+ 2tgx .
g . 2 2.
i 5 5 =———— 5 sin(Xy)—cos(Xy)=X"+Yy~;
_1-cosg . g4 X HY _0: 1+sin” X
p-sing x>—y* {X:t-lnt,

y=t—Int

{x =2(t7 +1),
y =exp(t’)







